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 �����	
���

���
������	
��������������
�����-��
���� ���!� ����!  (quasi-experimental, 
pretest-posttest, control group design)     �67��8��9�:����;�<=<� >�?� ��� ?<�����?����� ��?�-
�
��������� 6��6�;	=��@�?�:><�A������=<��
����:��?
� 
 
��
�����������
 

 ���B�����C�� �����;B<;����8��9���

���
����@�?�=��:><�A������=<��
����:��?
��!���� D 
�<��:��?
�;�@�     E��6��������������;�	
���
�F�=��     E���������:��?
���� �����?��� :><�A��
������<� (elective case) ;�������B��� 
 
������	��
��� 

 ��!� ?
���������;B<;����8��9���

���
����@�?�=��:><�A������=<��
����:��?
��!���� D �<��-
:��?
�;�@� E��6��������������;�	
���
�F�=�� E���������:��?
���� �����?��� :><�A��������<� 
(elective case) ;�������B������H � �I�������J<��=D�:��?
� ?

��?���7�����K��  L�� ��7��
�
����� 6.8. 2549 ��7����!� ?
������ 40 ��� �Q�����!DF �
?��
���
 
 1.  ����!������� 18-60 �U 
 2. ����@�?� (6�� � � �>�F �F �>� 6�� �<��) =��:><�A�����H�<�
����:��?
�B��������H�<���� 
��

���� �����:><�A���
����:��?
������<��<��:��?
� 
 3. F� ��L�=<�;	 ���� 6>�����=���I�9�H��H�< 
  

�������������������	��
��� 

 �Q����=���?
������	��?����FQ���W	�>� (approximate sample sizes) E���Q���D���=��
:��������	��F�������� (effect size) ��<��Q�������H�<H���Z�?����     E���Q���������� �������7���
	������[��F\F  ?�]�� (α ) �����
� .05     ���:��������	��F�������� �Q���DH�<	��F>?� (Cohen, 
1988) 
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σ

BA
mm

d
−

=  

  
 � 7�� d     �7� :��������	��F�������� 
  

A
m   �7� ����`����=�����B���;���!� ����� 

    
B

m   �7� ����`����=��=�����B���;���!� ����!  
    σ    �7� F������������ �?�]��=�����B��� 
 E���������`����=�����B������F������������ �?�]��=�����B����Q� �	�����8��9�
=�����D�� �����D� (2545) ��7���:�=�����F�
�F�!�=<� >������� Da?����� ��?��
���=��
@�?�=D���:><�A���
����:��?
� J��� ���� ;��<������
����8��9�;���

���
  
  

������    
( ) ( )

2

29.1269.12

55.5790.43

22

+

−
=d   

    
83.8

65.13
=  

    54.1=  

 

������H�<	������Q���D�����
� 1.54 J��� ������ .80 �
���F�����:��������	��F�������� ����
F>� (��� effect size ���
�F>�) �
��

�����Q������� d = 1.40 ��� power = .8 � 7����Z�?���� power 
of t-test (2-tailed, p=.05) 6������!� ?
���������?<������7���!� �� 9 ��� �?�;������	
���

���
:><��	
�
	Q�����?<��;B<��!� ?
������;�<�6���6����	�F� ��L�Q�H���������a=<� >��<��FL�?�6���� ?���?��H� 
	���Q������!� ?
���������?<�����	�8��9�������!� �� 20 ���  

 
��������	��
������������ 

;B<��\����	
�`��� �!��
�E�����	
�H�<��!� ;���!� ����� �B�� 	
�H�<��!� ����� ;��
��

�
:><��	
��W	���W������ =<� >���!� ������

��
�    ���;��
�?��H��W	�	
�`������        �Q��B����
	�
����� =<� >�����

���!� ����� �����!� ����!  �67���C���
����6>��!����������!� ��������
��!� ����!  J���	��Q�;�<=<� >����:><��	
�;�<�
���!� ����� �:�?����!� ����!  ���F��:�H��
�
�������� ��?��
���=D��:B�@H�< 
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����������������� � 

1.�#�$%���$�&'%(��(�������	
 

  1.1 �������� � 
   ���7��� 7����;B<;����8��9���

���
�������<�� 4 F����7�  
  1.1.1 ���;�<=<� >�?� ��� ?<��������@�?�=D���:><�A���
����:��?
�     J���:><��	
�
F�<��=�
�	�������������D��� �������
���� ?<�����=��@�?�=D���:><�A���
����:��?
�=��
F 6
�\a ������D�� � (2544) ������ ?<�����=��@�?�:><�A�����H�<�
����:��?
�8
����� ����>�
;����������:��?
� =��	!���
?�a �������� (2540)     E�����;�<=<� >�H�<�������� 2 ����   ���\����
�
�?��H���
 

 ������� 1 �����������:><�A�� �L���<��:��?
� ��:��?
� 	�:><�A���=<��<������ �Q�:��?
� 
  =

�?����� 1 F�<��F
 6
�\I�6�
�@�?�  E������ 	��:><��	
�����Q�?
��
�
@�?� F�<���������86>��!�����������
���� ;B<�Q�L� ������Z�;����6>��!� �67��;�<@�?�H�< �
E���F�������� �><F�� J
�L� =<�F�F
� 
  =

�?����� 2 ���� ����� ?<�����=<� >�=��@�?� L<�=<� >����@�?�?<�����
����H �H�<��>�;���7
������;�<=<� >�?� ��� ?<���������?��� H�< :><��	
�H�<;�<=<� >�?� ���@�?�
?<������������	�;�<=<� >�?� ��� ?<�����;�F�������?��� H�< 
   =

�?����� 3 ;�<=<� >� ���� 	���\��������[��
?�?
�=��:><�A�����@�?� 
�B�� ����:><�A���=<��<��:��?
�	�?<��L��/�����������B!�����<��:��?
��?��� H�< � 7��:><�A��L>�F��H��
�
�<�����	��Q�:��?
� ;�<@�?��
������<��<��:��?
� J��� ���<���
�����
�F7�6� 6a���	
�������H�< H ���!@�?
;�<@�?��=<�H�;��<������Q�:��?
�E��H � ���?!:�F ��� 

=

�?����� 4 �	<��������
���� ����I
�=��:><�A�� ����>�����H�<�
�	��
6�����=D�������=<��<���67���Q�:��?
�  
   =

�?����� 5 �	<������������;B<;�����Q�:��?
�E����� �D 

=

�?����� 6 ��Z�E���F;�<@�?�J
�L� �����

� ���@�?�H � �=<�F�F
�
J
�L�  ;�<@�?��
������<��<��:��?
�?� ��?� 

�����������;B<;����;�<=<� >�?� ��� ?<������������ 1 30 ���� 
������� 2 :><�A��:��?
��F�W	���6
�fgh��67����F����
�?�� 

   =

�?����� 1 �	<�;�<@�?��������:><�A��:��?
��F�W	��<� 
   =

�?����� 2 �\����;�<@�?�����FI�6=��:><�A����
�:��?
����F������?<��
?��?
�:><�A����
�H����?�� �B�� ?<�� �F������� ���	���:� ����?<� 

=

�?����� 3 �	<������������?<��H�<�
�����>��?����7�������<��6
�fgh� ���
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����>�����:><�A��H�<�
�  
   =

�?����� 4 ;�<�Q�����Q��������
����B������7�=��@�?�;�����>��:><�A�� 
��
�:��?
� 
   =

�?����� 5 ��Z�E���F;�<@�?�J
�L�    

�����������;B< 5-10 ���� 
  1.1.2 ����
����=<� >��
��H�=��@�?�:><�A�� �������<�� ���!  �68  8�F�� 
��B�6 ���
����8��9� ���H�<������
�/��7�� F��\�;�����
�9� �i@��;�����F�����;B<	��� 
���F����Da���:��?
�=��������
� ���H�<�
�=<� >��������
����:��?
�	����:><�A�� ��� F
 - 
6
�\a�
�:><�A��  
    1.1.3 ����
����=<� >��
��H�=��:><�A�� �������<�� ���!  �68  8�F�� ���
�-
���8��9�  ��B�6  ���H�<=��:><�A��?����7��  �������	`
�E�� �����D���H�<�
����:��?
�   
 1.1.4 ���F��L� �������
���� ��?��
���=��F�Z�����a ����a����D� 
(Spielberger et al., 1970) ���H�<�
�����������I�9�H��E����?��, F��l�� ��� ��� (�<��?� 
=��9]�, 2534) �������� 
  1) ��� ��?��
���=D��:B�@  ����=<��Q�L� �������
���� �><F���������=�
�
=D������:><�A���
����:��?
� �
�9D����� �?��F��� 4 ���
� =<��Q�L�  �	Q���� 20 =<� ��������
��� �><F�������� 10 =<� H�<���=<� 1, 2, 5, 8, 10, 11, 15, 16, 19 ��� 20 ��� �><F������� 10 =<� 
H�<���=<� 3, 4, 6, 7, 9, 12, 13, 14, 17 ��� 18  
  2) ��� ��?��
����m� ����=<��Q�L� �������
���� �><F���������=�
��
�
FL�����Da�
�� n H� �
�9D����� �?��F��� 4 ���
� =<��Q�L�  �	Q���� 20 =<� ������� �><F��
������ 7 =<� H�<���=<� 1, 6, 7, 10, 13, 16 ��� 19   ��� �><F������� 13 =<� H�<��� =<� 2, 3, 4, 5, 8, 
9, 11, 12, 14, 15, 17, 18 ��� 20  
     3) ��Doa���;�<�����  FQ���
�=<���� ���� � ��������;�<�����
�
���
 
   �����F!�/�F �  ;�< 1 
  ����=<�� ��/���� n  ;�< 2 
   ��<��/�����

�  ;�< 3 
  H � ����  ;�<  4 
      F���=<���� ���� � �������;�<������
���
 
   �����F!�/�F �  ;�< 4 
  ����=<�� ��/���� n  ;�< 3 
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   ��<��/�����

�  ;�< 2 
  H � ����  ;�<  1 
  ��������H�<	������
��?���B!�	� ����?�Q�F!� 20 ����� ��� ����F>�F!� 80 
����� E��������������� 3 ���
��
���
 (=��9]�, 2534) 
   ����� 20-40 �����  ���� ��?��
������
�?�Q� 
   ����� 41-60 �����  ���� ��?��
������
�������� 
   ����� 61-80 �����  ���� ��?��
������
�F>� 
 1.1.5 ���F��L� ��� 6��6�;	         �������<��=<��Q�L� 	Q����  16  =<�   J���
:><��	
�F�<��=�
�	�������������D���  �!DI�6������;��!��=��=
�=�� �!@;	 (2544) E��
���� ��	��  1. ������������F
 :
FH�< (=<��Q�L� =<�1-4)  2. ��� ����B7��L7�=�����;�<������ (=<�
�Q�L� =<� 5-7)  3. ���;�<���������?��F������ ?<����� (=<��Q�L� =<�8-10)  4. ���;�<���������
 ��������
��!DI�6 (=<��Q�L� =<�11-13)  5. �������������=<�L��	�?;	 (=<��Q�L� =<�14-16) J���;�
�?���=<�	�;�<��7��?��  ���� �?�� 5 ���
�  �7�  6��6�;	 �����F!�  6��6�;	 ��   6��6�;	���
���� 6��6�;	��W��<�� H �6��6�;	 ��� ����������
���
  
   6��6�;	 �����F!�   ;�< 5 
   6��6�;	 �� ;�< 4 
   6��6�;	������� ;�< 3 
   6��6�;	��W��<�� ;�< 2 
   H �6��6�;	 ;�< 1 
   ��������H�<	������
�	� ���������?�Q�F!��7� 16 ����� �����������F>�F!�
�7� 80 �����  E��������������� 5 ���
��
���
 
    ����� 16-28 ����� H �6��6�;	 
    ����� 29-41 �����  ���� 6��6�;	��W��<�� 
    ����� 42-54 �����  ���� 6��6�;	������� 

����� 55-67 �����  ���� 6��6�;	 �� 
    ����� 68-80 �����  ���� 6��6�;	 �����F!� 
 
  1.2 ���?��	F����� ?��?� ��7
���  (content validity) 
  :><��	
��Q���7
������;�<=<� >�?� ��� ?<�����=��@�?�=D���:><�A���
����:��?
�
������F��L� ��� 6��6�;	 ���F�<��=�
�	�������������D���  �F��:><����!D�!q� 5 ���� 
�������<����	���a6�����:><�B����B�@���6���������<��8
��8�F?�a 1 ���� 	�?��B 1 ����  
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�6��a:><�B����B�@���8
��8�F?�a 1 ���� ���6�������B�B�6 	Q���� 2 ���� ��
�	���

���
���!�
��<H=?� �Q�����Q�=��:><����!D�!q� E����
�=<��Q�L� ��� 6��6�;		����� 	Q���� 22 =<����7�
�6��� 16 =<� ��7���	��=<��Q�L� ���=<� ���� J
Q�J<�� H �?���
�����������=����� 6��6�;	 
�������Q�;�<��
��>����E��;�<���B
����B
��	� ��=�
� FQ���
���7
������;�<=<� >�?� ��� 
?<�����H�<�Q�H������;B<�
�@�?�:><�A����� ��!DF �
?��B��������
���!� ?
������	Q���� 4 ��� ����
�Q�H�;B<	��� 
  
 1.3 ���?��	F����� ������ (reliability) 
  :><��	
��Q����F��L� ��� ��?��
��������� 6��6�;	H������;B<�����Q�H� 
;B<	���     E��;B<F��L� @�?�:><�A������
����:><�A���
����:��?
���� �����?��� :><�A��������<� ;�
������B���  D �<��:��?
�;�@� E��6��������������;�	
���
�F�=�� 	Q���� 20 ���  �Q������
���H�< ��������� ������=�����7��� 7� E��;B<F>?�F
 ���F��\�r=������������f� (Cronbachs s 
alpha coefficient) J���H�<������ ������=�����F��L� ��� ��?��
����m� ��� ��?��
���=D�
�:B�@ ������ 6��6�;	 �����
� 0.76, 0.93 ��� 0.86 ?� �Q��
� 
  
 2. ��*'����������� �  

  2.1 =

��?��� ��� 
   2.1.1 �?��� ��� 6�<� =��:><��	
� E��:><��	
�H�<mt��
��������
���\����;�<=<� >���� 
J
�J<� ���;�<=<� >����@�?�:><�A��������

�I��;?<�Q�����Q�=����	���a�������9��67��;�< 
��;	��� 
���;�<=<� >����@�?�:><�A��;�F������������7
�����
�FQ��
@	��� 7���
���7��?�?����
��<�����F!� 
   2.1.2 �?��� ��� 6�<� =��:><B�����	
� E��:><B�����	
�����6��������	Q��<��:��?
� 
�������� �Q������W�=<� >�:><��	
�H�<6>��!�B�
�	��������
�����Q���	
���

���
 ���=

�?�����:><B�����	
�
	�?<���[��
?� H�<��� �	����F��L� ��� ��?��
��� ������F��L� ��� 6��6�;	 E�����
:><B�����	
�H�<H������;B<���F��L� �
�:><��	
��������	��Q�H�;B<	��� �67��;�<:><B�����	
�H�<mt�6>� 
�\���� E�� ���� �=<�;	=<��Q�L� ;����F��L� ?���
�:><��	
�  
   2.1.3 8��9��Q����� (try-out) ���8��9��Q�����FQ���
������	
���

���
H�<�Q����8��9�
E���Q���������� 7���
������W�=<� >�	����!�������;�@�?�:><�A�� 4 ��� ����������!� ����!  2 
��� �����!� ����� 2 ���  �67��8��9����=

�?���

�� �=�������W�=<� >� ���� ����H�H�<���
6��i@���!�F�����H��<���������=�
�����������;�<=<� >� 	���

��Q� ���
���!���<H=I��;?<
�Q�����Q�=����	���a�������9��������	��Q����8��9�	��� 
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  2.2 =

��Q�������� 
 :><��	
��Q���
�F7��67��=���!@�?��W������ =<� >� D �<��:��?
� E��6���������

�����;�	
���
�F�=�� ��
�	�����H�<�
���!@�?;�<�Q������W�=<� >� :><��	
��=<�6��
��
���<��<��-
:��?
��67��=���� ���  7����B�
�	��
?L!���F��a;�����Q���	
�  	���

��Q����������W������ 
=<� >� E�� 
   2.2.1   :><��	
����:><B�����	
�FQ���	@�?�:><�A������
����:><�A���
����:��?
������� ����
�?��� ?
�������<� ;�������B��� ?� ���H�<�Q�����!DF �
?�H�< 
   2.2.2 :><��	
���7�:><B�����	
�����Q�?�����
�@�?�:><�A�� B�
�	��
?L!���F��a ���
6��
�9aF��\� ���=���� ���  7�;����8��9�  

  2.2.3  :><��	
����:><B�����	
��Q����������W������ =<� >��

� 2 ��!�  E�� 
   2.2.3.1 ����Q������������� =<� >�;���!� ����! �������� 2 ��

� �
���
 
   ��

���� 1 ����� =<� >�?� ����
����=<� >��
��H�=��@�?������:><�A��
�
����:��?
����=<� >��
��H�=��:><�A������=<��
����:��?
� ���;�<@�?�?�����F��L� ��� ��?�-
�
�����

���� 1 (��W������ =<� >�� 7��:><�A�� �L���<��:��?
�) 
   ��

���� 2 �
���� ��?��
���E��;B<���F��L� ��� ��?��
�����

���� 2 
������F��L� ��� 6��6�;	?�����������H�<�
� I����
����:><�A��:��?
��F�W	�����>�;��<��6
�fgh�  
   2.2.3.2 �Q������������� =<� >�;���!� ����� E�� 

 ��

���� 1 ����� =<� >�?� ����
����=<� >��
��H�=��@�?������:><�A��
�
����:��?
����=<� >��
��H�=��:><�A������=<��
����:��?
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